
E XIpCC) 
alkiply dhe holouwing deumal hrtwlieon

bu Ca l0 (b 100 ()o00 

123.6 

123.6 XI0 1236 

123.6 XIp0 12360 

3.XI000- 1296 00 

0.000g 

0.D009 X D: 0. 009 

D.ODX 00 0.09 

0.0009XI000-0.9 



Uate 

h 15.00 2 

15.002 XID150. 02 

5.002 XI00- \500. 

15.002X 100 1S002 

R.Find the valuea he elowing 
a.0. 4831 XIO0O0 

483 X 1090 834_ 10 000 

b.0.389 X 100000 

0399 XIDO60 3890 



C.3.8 X10 

L238 X 108 380 

d308 XI0 
308 XI 3208 
10O

e..0007 XJOC0' 

3.017X10 

201 X 30.1z 
J00 



100. XI00 

LDDS2 X lDo 100820 

h0.0.309 X L00 D 
309 X [Oe0 30,9 

Exlo (D 

L nd the produd 

0.26.Q XIL 

0.u262 
X L 
26 

09.6882 



h0.48 X 2uD 

0.48 
XYD 

o 00 0 0 
I9 48 0 

+9 0 D 
b.82 

i50.0SX 50 

50.05 
X X 5D 
00 00 

t25 02 50 
5 0 .5 0 

ID0.01X200 
O0.0 

X A00 

000 00 0 
00 0 0 



0ste 

.Find dhe product 

a18.4X0.J 

X01 
6 3 

O0 0XXX 

b0.311 6 XO.DS 

0.314 
X 0.05 
5730 

0D 0 0020 
000 080D 

0.0153 6 



C 132X 0.0008 

0.0D03 
X 32 
00016 

00 024D 
+00 0D8 00 
0.0010 56 

.0.00y XO06 

0.0 04 

006 

0.0 0 025 6 



Date 

C.1.18 X D.U6X 0.01 

O.54A2 X U.0 

3191 703 
10 

t000 00 
05 8 

+00 0 00 00 
O.039 

.LXIXo.1 
0 
X XDL 

0-0L 
3M8X16bX05 

55.68 
X0.5 

38 

082- 
3480 55.6 8 

+000 0 
780- 



e 

h.0-03X O.03 X 0.03 

0.0 3 

X003 
O09 

0000 000D00 
00 0 o 0 0000 00 00 
00 O 90.0 000 22 

0.0009 
X_ON3 
O0021 

3 324 XIl=3888, Ahen Jind the pto duet 

each othe gollowing uithot 

acRuay perokug he Multipli.cakoq. V 

03.2X12 

3 x 12 

3 888 
O0 

38,32 



( 

b32.4 XI2 

y X 1R 

388 389. 

C0. 32Y XIR. 

32 X1 
O00 

3832 3.88A 
lo00_ 

d 0.00324 X 1 

3 X 12 

3883 0.0.3888 
100O00 



G14.6 X9= 5531 hen ind he prtoduzt bf 

o toch o dhu 4olluaing without otdunlly mulh 

a 46X: ÁML X9 553 11 553./4 
0O 00 

b 0.6146Xq- 6JUG X9 5531Y 5.534 
0000

C 6 X9:_ 55314 

d.614LX: 6196 X9 5534 S51311 
L000 boD 

0.0416X9 1He X55314065314 
100 DO 00000 

5 242X6 - l492 Jhen sind dud he prtrduct

houd attually dning ne mubiplicaion when 

.48muipacolby 



) 

.8X 60 
248 X 60 |48 

b. 600 

.48X600 = X6DO 4g9 

CDul 

00 10 000 

48X 0.04243 X6_1 0. JU22 
TOO O0 0000 

0000 

Y8 X6OD UR_ X60DA u220 



H
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